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N A VA = A # i1 il 2 K

Hh X £ 2 = i HH ] X it HH ] = &t HH
# A 13,981 14,562 28,543 12,897 577 683 1,260 848 14,558 15,245 29,803 13,514
= =} 1,421 1,494 2,915 1,149 5 17 22 15 1,426 1,511 2,937 1,153
ES = 3,130 3,319 6,449 2,662 60 82 142 106 3,190 3,401 6,591 2,735
F B 1,014 997 2,011 800 5 14 19 15 1,019 1,011 2,030 807
B & & 2,629 2,596 5,225 2,045 55 57 112 80 2,684 2,653 5,337 2,104
m H b 3,027 3,060 6,087 2,730 61 89 150 115 3,088 3,149 6,237 2,795
B & b 2,791 2,815 5,606 2,281 49 75 124 112 2,840 2,890 5,730 2,369
= = BT 2,463 2,624 5,087 2,213 15 27 42 35 2,478 2,651 5,129 2,223
E % 732 826 1,558 748 1 4 5 4 733 830 1,563 749
= Gl 31,188 32,293 63,481 27,525 828/ 1,048/ 1,876/ 1,330 32,016 33,341 65,357 28,449
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R g | B % B g (B ger | 8 | = | i | t#% B R | 8 | & [ & g B ] S |
il X 864 893 1,757 840 EEFHILEX 160 169 329 139 HERX 293 302 595 247 N — X 197 225 422 166
W F X | 1,260 1,334 2,594 1,230 . | it X 148 151 299 107 t #H X 338 307 645 275 INHZX 179 176 355 142
kR T X 231 256 487 265| = BHEK 112 137 249 106 R EBRX 273 289 562 216 L] INH=X 284 297 581 230
= H X | 1,630 1,749 3,379| 1,443 BHIAK 345 364 709 267 AERRK 74 71 145 66 IINHERX 667 677 1,344 640
7 BT X | 1,690 1,816 3,506| 1,672 b2 ih X 474 491 965 378 = B B X 340 353 693 261 = RE X 447 429 876 366
IR X 227 235 462 216 2 | F{EHh X 187 199 386 156 TEREX 403 415 818 286 E N 386 401 187 287
== 20 22 42 17 HERX 249 248 497 190 EH 2 X 352 329 681 256
F R X 56 58 114 47 X 5t | 1,426| 1,511] 2,937| 1,153 i REHEHX 395 358 753 304 pliy KX 242 244 486 215
U X 76 86 162 67 FIREX 136 129 265 109 BERX 86 82 168 64 T #H X 86 112 198 67
FIHTER 155 135 290 120 TREX 118 137 255 112 B B X 233 228 461 195
th R X | 1,037 1,114 2,151 1,019 |m & x| 183 197] 380 138 #h X 5 | 2,840 2,890] 5,730 2,369
# BA &2 X | 1,131 1,172 2,303 999 % EFRERX 230 254 484 191 H X &t | 2,684 2,653| 5,337 2,104 5 = 854 875 1,729 740
B X 1,120 1,125 2,245 926 XILERK 391 489 880 441 - £ B 330 351 681 295
mEeE X 844 907 1, 751 858 FERX 311 304 615 245 RKEHFHEK 275 273 548 2047 = % 124 116 240 117
EHHRKX 513 505 1,018 543 B X 179 170 349 123 & 1y i =3 130 146 276 122 % R 320 335 655 328
T#HHRK 127 152 279 132 TEX 301 330 631 255 ORI =3 421 397 818 346(s= | Al [£3] 850 974\ 1,824 743
F #® X 834 8717 1, 711 7131 FIFERX 616 676| 1,292 497 =l 136 135 271 99
B BFERX 204 194 398 174 P THFEX 455 456 911 A21% | &/ K 311 341 652 270 X 5t | 2,478| 2,651| 5,129| 2,223
B E X 544 565 1,109 483|7  HEBE X 192 173 365 134 & X 168 181 349 139 JE # 1 79 91 170 73
ERF X 483 478 961 424 1E AT X 78 86 164 68 5 #h X 119 143 262 120 E B 265 337 602 312
AR X 420 414 834 330 i KERX|1,470| 1,480| 2,950| 1, 442 #& 0 181 201 382 152
2 E X 201 257 458 229 H X £+ | 3,190( 3, 401| 6,591| 2, 735 " Er R 58 53 111 BIE 2K 66 66 132 59
ZE R 4t BT 40 37 11 31 === 33 36 69 40
I = 63 66 129 56 (= 285 259 544 218 Hh X &t | 3,088 3,149| 6, 237| 2,795 N H B #§ 75 65 140 67
FoERRX 788 798 1,586 662 F }FORX 375 369 744 297 = ¥ B 217 33 60 39
TFREX 213 241 454 176 SH 7 1 8 7
Hh X Et | 14,558|15,245| 29 803|13,514 B J\F X 146 142 288 116
X 5t 733 830| 1,563 749
X 5+ 1,019( 1,011] 2,030 807 FEIRFAEtT 32,016/33, 341|65, 35728, 449




